Collinear points (HKMO Classified Questions by topics) Created by Mr. Francis Hung

1984 FSG.4 1998 F12.1

2, ~1)~ (0, 1) ~ (=6, d) = BEE & = F d thid - = A(1,3)~ B(5,8)% C(29, )% & » 4 a it o

The points (2, 1), (0, 1), (-6, d) are collinear. Find the value of d. If A(1, 3), B(5, 8) and C(29, a) are collinear, find the value of a .
1984 FG7.3

(1,3)~(a,5)~ (4,9)= B-x 8 - K dig -
The 3 points (1, 3), (a, 5), (4, 9) are collinear. Find the value of a.
1985 FI12.3

- EHEE-LD2GB,9) FH yRFEL ¢ Koo o
A line passes through the points (—1, 1) and (3, 9). If the y-intercept of the line is
¢, find the value of c¢.

1986 FI1.4

#H(2,6)% (5,7)2. & &8 x-$hip 1 >0(d,0) » o d ehig -

The line through (2, 6) and (5, 7) cuts the x-axis at (d, 0). Find the value of d .
1986 FG6.2

27,9~ G,3)%(1,-HE & » Fqgehid o

If (7, g), (5, 3) and (1, —1) are collinear, find the value of ¢ .

1987 FG7.4

2L(1,3)~ (4,92 2, D)¥ B o £ D enig -

The points (1, 3), (4, 9) and (2, D) are collinear. Find the value of D .

1989 HI8

=8 4(-8,6)~B(2,1) 2 C4,c) 28 » F ceaig o

If the points A(-8, 6), B(-2, 1) and C(4, c) are collinear, find the value of c¢.
1990 FG6.2

F = BL(150, b) > (10,—4)% (20, -3)% & » $ b enig -

If the 3 points (150, b), (10, —4) and (20, —3) are collinear, find the value of 5.
1991 F12.4

FEG,I2)~G, D)~ (7,d)x 8> fdeaig -

If the points (3, 12), (5, 1) and (7, d) are collinear, find the value of d .

1992 FI3.3

= B(2,-3)~ (4,3)% (55)%—1 E I S

The three points (2, —3), (4, 3) and (5, %) are collinear. Find the value of c.
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Collinear points (HKMO Classified Questions by topics)

Answers
1984 FSG .4 1984 FG7.3 1985 FI2.3 1986 FI1.4 1986 FG6.2
7 2 3 -16 5
1987 FG7.4 1989 HI8 1990 FG6.2 1991 FI2.4 1992 FI3.3
5 —4 10 -10 12
1998 FI2.1
38
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